

**Everly Rose Events** 

06/09/2023 09:00 AM | Install 06/10/2023 06:00 PM | Event 06/11/2023 09:00 AM | Strike PO: Shipping Address: PRIVATE HOME 240 South Burlingame Ave. Los Angeles, CA, 90049 Invoice Date:
Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
COCKTAILS					
	Garden Sofas - Shakespear Garden - Ivory Black frame with natural cushions	2	\$500.00	Т	\$1,000.00
	Garden Club & Lounge Chairs - Shakespear Garden - Ivory & Metal Black frame with natural cushions	4	\$250.00	Т	\$1,000.00
	Garden Stand Up Table - Jardin Des Tuileries	5	\$175.00	Т	\$875.00
	Garden Bistro Table - Jardin Du Champ Elysees	6	\$150.00	Т	\$900.00
	Garden Dining Chair - Jardin Du Luxembourg	9	\$25.00	Т	\$225.00
	Garden Dining Chair - Jardin Du Champ Elysees	9	\$25.00	Т	\$225.00
	Chicago Bar 12'L - White Wood	2	\$950.00	Т	\$1,900.00
	Straight Barback 6'L - White	4	\$250.00	Т	\$1,000.00
			Total COCKTAILS		\$7,125.00
INSIDE HOUSE					
	Ibiza Sofa Section Left Arm - White Suede	2	\$300.00	Т	\$600.00
	Ibiza Sofa Section Right Arm - White Suede	2	\$300.00	Т	\$600.00

Description		Qtty	Price		Total
	Ibiza Chaise Sofa Left Arm - White Suede	1	\$300.00	Т	\$300.00
Mari	Coffee Tables - Avignon - Cement	2	\$200.00	Т	\$400.00
	Pasadena Straight Banquette 6'L - Ivory	4	\$350.00	Т	\$1,400.00
	Coffee Tables - Paris - Chrome	4	\$225.00	Т	\$900.00
7.1	Ottomans - Milan - Tufted Champagne Square	8	\$65.00	Т	\$520.00
		Т	otal INSIDE HOU	JSE	\$4,720.00
RECEPTION					
	Bars - New York - Folding 6' With Decal Applied to fronts and sides	3	\$850.00	T	\$2,550.00
	Decal for Bars	3	\$250.00	Т	\$750.00
	NEW Barback Shelving Panel 26'W x 10'H with (3) sections for barback shelves; Color tbd **need to measure to see if this piece will fit under the pergola	1	\$6,500.00	Т	\$6,500.00
	Sofas - Florence - Natural W/ Wood Legs	4	\$350.00	Т	\$1,400.00
	Coffee Tables - Montreal - Gold Leaf Rectangular	4	\$250.00	Т	\$1,000.00
	Daybeds - Florence - Natural W/ Nailhead Trim	4	\$250.00	Т	\$1,000.00
	Club & Lounge Chairs - Avignon - Vanity Chair	4	\$150.00	Т	\$600.00
	Club & Lounge Chairs - Lyon - Vanity Chair White	4	\$150.00	Т	\$600.00

Description		Qtty	Price		Total
	Ottomans - Cross Nailhead Trim Natural	4	\$65.00	Т	\$260.00
	Ottomans - Cross Nailhead Trim White	4	\$65.00	Т	\$260.00
	Sofas - Versailles - Tufted Back 8'	2	\$400.00	Т	\$800.00
	Coffee Tables - Toronto - Rectangular	4	\$225.00	Т	\$900.00
	Club & Lounge Chairs - Versailles - Cane Back Vanity Chair	4	\$150.00	Т	\$600.00
H	Dining Chairs - Florence - White & Wood Frame	130	\$22.00	Т	\$2,860.00
	Stand Up Tables - Bali - Round Wood Cane Back	4	\$225.00	Т	\$900.00
F	Barstools - Toronto - Upholstered W/ Light Wood Legs	12	\$35.00	Т	\$420.00
		Total RECEPTION		ION	\$21,400.00
Services					
	Installers: Install	8	\$450.00		\$3,600.00
	Installers: Strike	8	\$450.00		\$3,600.00
	Trucking: 24'L	3	\$450.00	Т	\$1,350.00
	Trucking: Fuel Surcharge	3	\$65.00	Т	\$195.00
	Manager: Onsite	1	\$850.00		\$850.00
	Supplies: Misc	1	\$350.00		\$350.00
Please make checks payable to Revelry, Inc.			Total Produ		\$33,245.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Taxes : Discounts:			\$9,945.00 \$3,305.05 (\$0.00)
Notes					(φυ.υυ)

Notes

\$46,495.05

Total:

Payments: (\$0.00)

**Balance:** \$46,495.05